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BEMIFEIV (PEHERY) 0. 06 0.5 0.56
i 0.24 0.34 1. 14 1.72
¥ oElAe B 5 M RT T 4 TIRER 0.03 0.06 | 0.09
ez FERRT T 4T A 0.03 0. 06 0.09
FART T 4T B 0.03 0.06 | 0.09
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FREMET A (Bl 2M) 0. 02 0.05 | 0.07

HEFEHFZE T C (B - &) 0. 02 0.05 | 0.07

HE EHBFZE L (B2 ALRERTrse) 0.15 0.15

HE EMAFIE T (2 ALA0T5E) 0.15 0.15

HE EHFIEIT (WSHE EE) 0.05 0.36 | 0.41

HE EHFIEIV (PEHERE) 0.06 0.5 0. 56

gt 0.24 0.3 1. 14 1.68

¥ Ll B oK M o2 ANH#EHBEFEIF— FHROEFR) 0.04 0.04
eIz KT T 4 TR 0.03 0.06 | 0.09
AT T 4T A 0.03 0.06 | 0.09

FRART T 4T B 0.03 0.06 | 0.09

HEFEHMFZE T A (B - ) 0. 02 0.05 | 0.07

HEFEHMMIZE T C (B - M) 0. 02 0.05 | 0.07

A - ARk 0.06 | 0.06 0.12

WA - AIEEHEEIEB 0.06 | 0.06 0.12

HEFEMMFIE T (% EIEREFSE) 0.15 0.15

BB FEMANIE T (R EEIERERITE) 0.15 0.15

R U (WIS HE ) 0.05 0.36 | 0.41

%ﬁza%ﬂgb}nw (FEEHHFFE) 0. 06 0.5 0. 56

HOEEEEE S E) 0.04 0. 04

it 0.36 0.5 1.14 2

R ANBHEEFE I — EHoOER) 0.04 0.04
Bz NI T 4 TR 0.03 0.06 | 0.09
FRART T 4T A 0.03 0.06 | 0.09

ERART T 4T B 0.03 0.06 | 0.09

HEFEHFZE T A (B - ) 0. 02 0.05 | 0.07

BE EMBFIE 1 C (L - ) 0. 02 0.05 0.07

HE EHAFSE T (3R 4e) 0.15 0.15

HE EMAIZE T (522 ERERTSE) 0.15 0.15

R EHAFIEIT (WSEHE EE) 0. 05 0.36 | 0.41

it 0.18 0.34 0. 64 1.16

R ANBHEEFE I — (EHoOERR) 0.04 0.04
WHE= NI T 4 TR 0.03 0.06 | 0.09
FRART T 4T A 0.03 0.06 | 0.09

FRART T 4T B 0.03 0.06 | 0.09

HEFEHFZE T A (BE - ) 0. 02 0.05 | 0.07

HE EMFIE 1 C (L - ) 0. 02 0.05 0.07

HE EHAFSE T (3R 4E) 0.15 0.15

HEEMAIZE T (52 2 R 2e) 0.15 0.15

HE EHMFIEIV (PEHEFRYE) 0. 06 0.5 0. 56

it 0.19 0. 34 0.78 1.31

¥OoE | I & INGE €. 1Y% ) 0.04 0. 04
WeHE= NI T 4 TR 0.03 0.06 | 0.09
FRART T 4T A 0.03 0.06 | 0.09

FRART T 4T B 0.03 0. 06 0.09

KRB 0.11 | 0.11

HEEHRE T A (B - 50 0. 02 0.05 | 0.07

HEFEMPIZ T B (B - 2 0. 05 0.1 0.15

HEEHE T C (B - &) 0. 02 0.05 | 0.07

e - ATERHEE L 0.06 | 0.06 0.12

wa - ATRREHEEEB 0. 06 0.06 0.12

HE EHAFSE T (B2 ALaETse) 0.15 0.15

HEFEHAFZENL (FI5EHE F28E) 0.05 0.36 | 0.41

R EHFIT T (2 27T 5T) 0. 05 0.1 0.15

it 0.35 0. 36 0.95 1. 66
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